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AGATT TRYTAHH! ATfF TH 093/09¥ T AT FEANIT IR R, TKR, [ob a0
st Zaqy faaxo Igodfjnl 068/069] 070/071] 0727073 073/074
b< S< b<? |s< <] s< k™= s< b< 2=
1.00 [lofkidis j:t*
1:1 | Taw 750-10000
121 |=. e smrew wHe 750 750 750
11 |@. e qur qanr e Rt T age 2000 2000 2000
11 |7 @ qar qany e faRt T gge 1000 1000 1000
121 |wfer o 750/-1000/-
121 |wfexr g foay qerer 1000 1000 1000
1z |afeRn v feemt wereran 3000 3000 3000
122 |zerite @s qEE gg fate 500/-5000/- 500 500 500
122 |&eradfe arm e fats 1000 1000 1000
122 |weoreR femebtmea 750 750 750
12 |FFEX qar FHIER Qe ot 1500 1500 1500
122 |fe ofr Bierarfagafas @ = gun 1000 1000 1000
12 |ufs Xear sarerr @ e araT gar 500 500 500
12 |ufe Hear FmRT AT SorENE A O 1000 1000 1000
12 |#Fme qweaR qar T weE 3000 3000 3000
122 |z a1, faens afaw 500 500 500
122 |fage g fbE ggen 500/-5000/-
122 |&. ok Foefy e 1000 1000 1000
122 |@. =g fay e 500 500 500
122 . ok g fasht T 1000 1000 1000
122 |eTdemR W Tuw 500/-5000/-
122 |%. erdaax amm gar o 1500 1500 1500
12 |@ erdamr qwien 2000
1.20 |71 erdamR G e fasht 2500 3000
12 = erdaR e Jeetfad ge qraTar 3000 3000 3500
122 |5 e Foem, et wre @ ety fafeer 700 700 700
122 |=. R Amee 3§ u"e 500 500 500
12 |smaw < 500/-5000/-
12 |®. 9 5 7 a1 FRER 2500 2500 2500
122 |@ q @ afg 99 o1 FRER 3500 3500 3500
12 |, Afeder fedr 1500 1500 1500
12 |&wr T qarel ferht feer 360/-5000/- 2000 2000 2000
T I 5000 5000 5000
122 |varg feer qar faran 2000 2000 2000
13 |wer wae 360/-1000/-
13 . o Forsy T 1000 1000 1000
13 |@. = faey e 700 700 700
1:3 | e farma qee 360/-1000/-
13 &, o faey e 1000 1000 1000
13 |@. e faey e 500 500 500
13 | @w 360/-1000/-
13 |®. e Fersy T 1000 1000 1000
13 |& aar faft 500 500 500
14 |ward wme Rt 360/-10000/-
14 |erée mie 4 ww qur fskran 3000 3000 3000
1=4 |2fr wie @ wm qan femran 6000 6000 6000
14 |drex wrdwer | v qar ek 2500 2500 2500




;sk Zaqy faaxo Igodfjnl 068/069] 070/071] 0727073 073/074
b< S< b<? |s< b<?2] s< bk ?- s< b< 2=
1:4 |ReE=ErEa Wier qréwe 91 59 1500 1500 1500
1:4 |Feeéram rée dier wie @ & 2000 2000 2000
14 |Ra=Eraa &4 Hex e & = 3000 3000 3000
2.00 | federer Rt @ S T 94
2:3 |Sr~ifrads wrawef 360/-3000/-
23 |, St drataar @9 3000 3000 3000
23 @ wrrEer faw we 2000 2000 2000
23 | =i 2500 2500 2500
23 = wfa 3000 3000 3000
24 |@r e s e 360/-3000/- 1000 1000 1000
2:4 | FEe F=ETa a7 e 2000 2000 2000
2.50 |v@r T@eE
250 |® sfrer sfgezar 360/-3000/- 3000 3000 3000
250 |@ siftrr sifgezar 2000 2000 2000
250 | 7 & Sfrar afeeza 1000 1000 1000
2.60 |a=a frfren 2000 2000 2000
2.60 |sramar et der wrHstETar 3000 3000 3000
2.60 |farem woe 1000 1000 1000
260 |&m 1000 1000 1000
2.60 e 1000 1000 1000
2.60 |war ferifren 1000 1000 1000
2.60 |9 T 1000 1000 1000
2.60 |wer et 1000 1000 1000
2:14 |er=riE =EEm 750/-3000/- 2000 2000 2000
5000/-
215 |seemmE quez 15000/- 5000 5000 5000
2000/-
31 |Fawtor sy 10000/-
THARET A.97. AT I T 5000
3.20 | Siforer Sebarar 8000 8000 8000
3.30 |@ aforer Sdaran 5000 5000 5000
3.40 | Siforer Faaren 3000 3000 3000
350 & Siforer Febaran 2000 2000 2000
3.60 |Feit der wreR wrATRR 2000 2000 2000
[qofemamein
410 |erest arw 5000 5000 5000
HiHt |aeies ST
1000/-
8.10 |ar = drew 50000/-
8.20 |% aw grew 5000 5000 5000
8.30 |gZaw grae 10000 10000 10000
8.40 |faw aw e 15000 15000 15000
8.50 |=m & drew 20000 20000 20000
8.60 [r=r aw e 30000 30000 30000
87 |rare 12000 12000 12000
1000/-
8.70 |@reet, = frseera, Tsaxr ATt =aeran 50000/-
8.80 |®. Erae qgT o=
8.8.1 [1%= f@ qodsam 2000 2000 2000
8.8.2 [19%= 2fa 20 3= @ 2500 2500 2500
8.8.3 [0 &% 3fa =ity @e 3000 3000 3000
1000/-
8.90 [ 50000/-
8.10 |+ ¥REue 91 TH 1500 1500 1500
8.11 |@rarer Fera, @reTeR 500 500 500




;st Zaqy faaxo Igodfjnl 068/069] 0707071 072/073 073/074
b< S< b<? |s< k2| s< b ?- s< b< 2=
8.12 |1 2= 3f@ Y e aww 1500 1500 1500
8.12 |& == 3fg q0 =@ = 2000 2000 2000
8.13 [q92== 3fa R0 o TFHFr FuRY @rg 2500 2500 2500
8.14 [0 za= 3fg wify 3000 3000 3000
1000/-
8.15 |ar wweg waar 99 50000/- 3000 3000 3000
8.16 |fret ot T wmdr 5000 5000 5000
50000/-
8.17 |Fnfer F=mer 100000/- 50000 50000 50000
8.18 |frafaa @ TR 1000 1000 1000
8.19 |IfFs T 1000 1000 1000
1000/-
8.20 |ervrer weif=y 50000/- 1000 1000 1000
1000/-
8.21 |2fre ammm qaa 50000/- 1000 1000 1000
1000/-
8.22 |Tew wrr 50000/- 2500 2500 2500
1000/-
8.23 |tomely, &% war ey afeEn 50000/- 2500 2500 2500
9,00 [&=1 s
9.00 |FeR e Zer 400/-7000/- 5000 5000 5000
9.00 |®eR =T | 2000 2000 2000
9.00 |FaT HeteF SERTHT (ST, IRIHE, =t 400/-7000/- 1500 1500 1500
9.00 |e=me &, faa swwer sfe ST 400/-7000/- 2000 2000 2000
HiH [dER e
1110 |[F=aR Far ( |rEar) 360/-1500/-
11.20 |=rere, iftayr sreaRifted w9 e AT 500 500 500
11.30 |2feeTe Far g=ers FEOET AT 3 AT 1500 1500 1500
11.40 |Hrarge w faanr 800 800 800
1150 |u. wH 3fgan 2000 2000 2000
11.60 |v&fes wfea 1000 1000 1000
11,70 |9EaR |, ®Th 1000 1000 1000
11.80 |&=frer fefr, ww'wH. @ (i) 10000 10000 10000
11.90 | ey 360/-1500/- 500 500 500
1110 |=frd qon waiw gfawdr it 360/-1500/- 500 500 500
1111 |fafear ersa, b oo 500 500 500
1112 |8 e v Sy afted @ arifaa 1000 1000 1000
12 [P ]
5000/-
12.10 |fafeer ar 50000/-
12.20 |fafst &bt anforsar S %1 wer st 15000 15000 15000
1230, & @ omEn s 10000 10000 10000
5000/-
12.40 |anfiier #RER T fod FHaiTeHT qeT e 10000/- 10000 10000 10000
12.50| ,, T 9@l HrEAd 3000 3000 3000
TET A ¥ TgSeydT (FNT ATER) = q4r WO
12.60 |arespréy T 1500 1500 1500
1000/-
12.70 |farefr war @efe 3000/- 1000 1000 1000
12.80 [wfT =y 2000 2000 2000




;sk Zaqy faaxo Igodfjnl 068/069] 070/071] 0727073 073/074
b< S< b<? |s< <] s< k™= s< b ?-
5000/-
12.90 |Ferar st 10000/- 5000 5000 5000
HitH
1500/-
13.10 |t & qar eredarer e 5000/-
13.20 | Q4 ¥ W= e wOEHE 3000 3000 3000
13.30 | q« a1 mifrepran 4000 4000 4000
13.40 |gveer w=qarer 4000 4000 4000
13,50 |eefeer qramh oty 2000 2000 2000
13.60 |wrefaes faferea des 1500 1500 1500
13.70 |sifesfe aur gaer it @ fosht 1500 1500 1500
13.80 |wrary @ e, frfe, @ 500/-3000/- 1000 1000 1000
HitH
1000/-
14.00 |sréfe $&d=ae 3000/- 1000 1000 1000
1000/-
14.00 |#Fifere ez, F¥ex fasras 3000/- 1500 1500 1500
14.00 |Feref strom aper e 1500 1500 1500
14.00 | Pt Famee qar witatass Rrders 360/-1000/- 1000 1000 1000
14.00 |fafs femmera
14.00 |7 wrafees 500 500 500
14.00 | 7= wrafes 3fa wrfa =@ qegerd 360/-1000/- 700 700 700
14.00| wrfa. s frenfa @R wwers 1000 1000 1000
14.00 |Fr.wr . &t wnfa. w” qemers 1000 1000 1000
14.00 |w.fa. 2@t sz awwems 2000 2000 2000
14.00 |fira g, =fearer, @rEifes sty 1000 1000 1000
14.00 |wirarer Wear wiia anfermr e 1000 1000 1000
14.00 |wfegar o fafear &an 500 500 500
HitH
151 |erée ez ms wva 100/-3000/- 1500 1500 1500
1521 |&fe drex mig Wi 2500 2500 2500
1521 | erem w | wemrE @ 360/-5000/- 360 360 360
1521 | |mgwe wea 360/-1500/- 360 360 360
1521 | drex argwe wda qwan 360/-3000/- 1000 1000 1000
15:1 | =om e @t T A= W 360/-5000/- 400 400 400
15:1 | =raErar JER B ATl W 360/-5000 400 400 400
1521 | ¥fEeier feer dEn e T T A wHT wHd 360/-1500/- 1000 1000 1000
15:1 | Rafeair fe.fr 3@ weia 360/-1500/- 500 500 500
151 |raméy wramen réhst ot aaer 1000 1000 1000
151 |drez a awau 700 700 700
15:1 |=rdr wter e farey wew 360/-1500/- 500 500 500
151 [fear ufs waa 360/-1500/- 500 500 500
151 |fersrorer @ 1000/-1500/ 1000 1000 1000
1511 |Fdadme ot 1000/-1500/ 1000 1000 1000
1500/-
15:1 |4=ferep TR e 5000/- 5000 5000 5000
it
1500/-
162 |ersfst awafa, wr s @éie fabs wea 5000/- 5000 5000 5000
165 |&sia qen =faureR 360/-1500/-
165 |¥ fae e 400 400 400
165 | fae wwar wden 500 500 500




st Zaqy faaxo Igodfjnl 068/069] 070/071] 0727073 073/074
b< S< b<?: |s< b<?2:| s< b<?: s< bk ?-
165 |=faarer 400 400 400
16:6 |qfaeR auw 360/-1500/-
16:6 |3 Feraewep 400 400 400
16:6 |3 ¥f@ wfa 500 500 500
16:6 | Sraxer SHmEE 500 500 500
16:6 |FaeT &g 360/-1500/-
166 |@ramor gweran 400 400 400
166 |emsvdr Semar 800 800 800
16:6 |wrer =ae 360/-1500/-
166 |=. wrar fa=ran 400 400 400
16:6 |@. ®iar fa= T 9= ArE S 500 500 500
16:6 |7, fafedn qedie qar wier fasar 700 700 700
16:6 |Firer Yepe e Rafsrdier aam T 1000 1000 1000
16:6 | Qe forT sATIRT 360/-1500
16:7 |%. rEwETe anfa srerr 400 400 400
167 |@ ArEars, e T e for orerHr 500 500 500
1657 |71, wusTHn o aren el ATd 500 500 500
16:7 | oo, et =AY e qar T 750 750 750
167 |wreeran et 1000 1000 1000
16:7 |, festrém &z 500 500 500
16:8 |wrem, A, wEw 360/-1000/-
16:9 |®. @Tamr agerH 400 400 400
16:9 |@. sweregmr 500 500 500
16:0 |t foram fadbar qam a8 360/-1000/- 400 400 400
16:10 |7, =R 7 Farcfied 360/-1000/- 500 500 500
16:11 |, faar @en wiggs |mE 360/-1000/- 1000 1000 1000
16:13 [sret = 360/-1000/-
16:13 | ofrer fersit e 1000 1000 1000
16:13 | s foht T 500 500 500
16:13 | fep=rT ere| stean fasfra g 500 500 500
16:13 |=E=, @13 anfamr wit=r, fadan 500/-1500/- 1000 1000 1000
16:15 |@eieT JueR Rree fadar 100/- 500/- 500 500 500
16:16 |7re @b erer wrgA 5000 5000 5000
HHHH
17.4 |Emeze Far famw 1500 1500 1500
1000/-
17.4 |7amt dw= 3000/- 1500 1500 1500
174 |feardfived quRaTh ATaHT 360/-5000/- 3000 3000 3000
17.40 |t fafmer e GRa®TEHr AT 0 FAT IFH 100 100 100
17.50 |ore faferrer wire wamréet antr =9 - 30 S1 @v 200 200 200
17.60 |uTer fafemer Tt TRA®REST it 39 Afg @il Iey 300 300 300
Hitt
19.00 |feparer e €erdy qarer 360/-5000/-
19.00 |feparer werer w7 400 400 400
19.00 | feramer werrdy gt 500 500 500
19.00 | werafepr gererar 400 400 400
19.00 |w=lY e 360/-5000/-
19.00 [, @mamor geerEn 500 500 500
19.00 [@. s fareft gmam afeq faebt 7 ww=irm 1000 1000 1000
19.00 |71, =t weraw fersbrar 1000 1000 1000
19.00 | T 360/-5000/- 500 500 500
19.00 | =rerer weia g 360/-5000/-
19.00 |3 ST =FferTeHT 400 400 400




st Zaqy faaxo Igodfjnl 068/069] 0707071 072/073 073/074
b< S< b<? |s< b<?2] s< bk ?- s< b< 2=

19.00 |3 3fa wfa 500 500 500
19.00 | sfrafr T 360/-5000/-

19.00 | STdr ddiafyr <t faT T 2000 2000 2000
19.00| ,, @t fory waT 1000 1000 1000
19.00 | smfafee sirafy o fasy wemm 800 800 800
19.00| , @t faEY AT 700 700 700
19.00 |=rifve urg witfaear 360/-5000/- 1000 1000 1000
19.00 [®Ter suTHT @ wier fafn qeerEr 360/-5000/- 500 500 500
19.00 |=r=aT =TI q9T HHA qEAT 360/-5000/- 500 500 500
19.00 |=RT 99T FIR AMATHET 360/-5000/-

19.00| & fafsw T 1000 1000 1000
19.00 | @sr fafw weam 500 500 500
19.00 |=rear fafse qem weia 360/-5000/- 500 500 500
19.00 |star =rqer whierr fafw T 360/-5000/- 500 500 500
19.00 [7eT a1 FETHT T quT Fradr fatm 360/-5000/- 1000 1000 1000
19.00 | @1 W fafw 360-/-5000/ 1500 1500 1500
19.00 |faet 360/-5000/-

19.01 |®. aTrera, 7 fa= SIar Th A THHT 700 700 700
19.02|@. ,, U& W afe @wTH THAT 1500 1500 1500
19.03 [, srdriifes wr=w fqer 5000 5000 5000
19.04 |&r. grgettres fae 500 500 500
19.05 |Feew arare fafs T agerr 360/-5000/- 500 500 500
19.06 |@TEE fam geaTadio ®H Saar 360/-5000/- 800 800 800
19.07 |fafa=T Suer wTaHTEH 360/-5000/- 1000 1000 1000
19.08 |feere Srtera= 360/-5000/- 600 600 600
19.00 |feer® 360/-5000/-

19.00 [=xe, fafe srear guam feer 3000 3000 3000
19.00 |or=r feel® 1500 1500 1500
19.00 |F=1fe FRER 360/-5000/-

19.00 |=Teérer, BTt wnfewm 1500 1500 1500
19.00 | =1 @=rmm 2000 2000 2000
19.00 | FEARA TREAT 360/-5000/-

19.00 |4t fabran 500 500 500
19.00 |gar feebran 400 400 400
19.00 | &&= dieie T dfge fafw 360/-5000/- 1500 1500 1500
19.00 |ffsr @cterg 2o, rda @b 360/-5000/- 1000 1000 1000
19.00 |drmsm et @ 360/-5000/- 700 700 700
19.00 |dife drasr 360/-5000/- 1000 1000 1000
19.00 |Ffeg g qar frdt, arerar € qemas 1000 1000 1000
19.00 | #re| 360/-5000/- 1000 1000 1000
19.00 |TSve fawew wrear qT fad 500 500 500
19.00 [@#r s fordr fafw 360/-5000/- 500 500 500
19.00 | Fra=ér |fie 360/-5000/- 1000 1000 1000
19.00 [Sofrl<a ; f 360/-5000 1000 1000 1000
19.00 [Ereer T 1500 1500 1500
19.00 |9fe =zr Yferg Prebrer amdy fommel 500 500 500
19.00 [, g, Fd, ameran, g feht fed 1000 1000 1000

MRTR AHIN FHFHATT T T TR
THHT AT (X THAHT FIRT AT AGTaehT

19.00 | STeMHT) 360 360 360
19.00 |Idlg dfs tyf ;1k? shn§; 5000 5000 5000
19.00 [afl® sbkgl tyf kfgl lagnkf 1500 1500 1500
19.00 |Psotlod k;n 500 500 500
19.00 |a’g ;k 400 400 400
19.00 |Hofltif ;Jf 500 500 500




;st Zaqy faaxo Igodfjnl 068/069] 0707071 072/073 073/074
b< S< b<?: |s< b< 2| s< b<? s< b< 2=
19.00 | plg wiuf]laquf 400 400 400
19.00 [I; d}*sf] 700 700 700
19.00 |1; g§if xn 2000 2000 2000
19.00 |mfer afs amreT 1500 1500 1500
19.00|af; lagil k;n 400 400 400
19.00 |ufp{e} ! afvf tyf kzHfto kig]< lagil ug] 500 500 500
19.00 [FRrTE fareey 360/-5000/- 1000 1000 1000
19.00 [0f<g] ;]Jf lat<s 2000 2000 2000
19.00 |77 ==E fesméa 1000 1000 1000
19.00 [sJf*L ;sng Jofj ;fo jflifs 5000 5000 5000
R ERIE]

4,00 |Searen were A ( wRAE FET AR ) 10000/-
4.00 |#. % 4 &G qEIR FF IO GoaItad FURTET 2000 2000 2000
400 [@.% ¥ @@ T (0 A T IR U 2500 2500 2500
4.00 |TTF 90 @@ FMI R0 AT@ THH YT Hel TN TTHT 3500 3500 3500
4,00 |&1.% 30 9@ TWI 4O ARG TFA BAUNST TUH 4000 4000 4000
4,00 |[2.% Yo @@ TMI | FIIS T FHel Uil TUH! 8000 8000 8000
4.00 |2.% 9 S wwaT AT B G TR 10000 10000 10000
4.00 [&TAT qAT RTEET JURTES ¢

3 WA HTHER g goaterd ae fepfaaesr s
400 [SERT 2000 2000 2000

Y SHTEF IR ARG goeierd qo fepfarer s
400 [SERT 2200 2200 2200

© SHTEH HIHER ARG Goetierd qo fepfaesr s
400 [SERT 2500 2500 2500
4.00 |=TS=TS, fasge, Faie ATer IURTHT 8000 8000 8000
400 |wrfes =TT 5000 5000 5000
400 [ faet 3000 3000 3000
400 [=m=E 8000 8000 8000
400 |fa=er arez 2500 2500 2500
4,00 |dr3d 3= 5000 5000 5000
4.00 |BiH=R AT AREAT TR 1000 1000 1000
4.00 [®FH=R T¥Rier W 2000 1500 2000 2000
400 |®H=R 3@ afa qua 5000 2500 3000 3000
4.00 [esmie FEIT 6000 6000 6000
5.00 |#f qar Teral AT ST SRT SEaEr 10000/-
500 |#. 9 3f@ woo TW FERT TATE 1000 1000 1000
500 |@ oo 3f@ 000 T FHERT UTeTelTg 2000 2000 2000
500 |T. 2000 3@ Y000 THH FERT UTeraTS 3000 3000 3000
5.00 |&.4000 =T AT qredes 4000 4000 4000
5.00 |R IO SHAEREET YA T ATeells 1500 1500 1500
5.00 |SFX oo srEErEEr Y A @ity 4000 4000 4000
5.00 |ATer e srEErg (feidEs) e g 100 100 100
6.00 |@frst qer s 3= 10000/-
6.00 |F. ¥ Q0 TG TFHHT HA OHT FoATAT FUTHT 1500 1500 1500
6.00 |@.% qomm@ TET R0 W@ FTFHF! FH Toll TTHT 2000 2000 2000
6.00 1% 0AT@ TWT 30 TG TFHF! F TSl TTHT 3000 3000 3000
6.00 |o1% 30WTE TN AT FEHRT KT IOl ATHT 5000 5000 5000
2.00 [#< hllfis<
100 [#< 7 huf afxin <sdsf]2%sf ben]# / PY cgi K

hiuf wigaf* #< / hluf afxfn s< Ing]l

YO JT0 Z1Zg Pg 2055 STJOKT 136 < PISIIgoanj Nt 2056
sfllgod 140 cg’Ir 8 adflnd Igdg cg’f< dlo < b< <df #<
hlufs< Ing]
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b< S< <P |s< b<?] s< b ?- s< b< 2=
4,00 |aflit§ ;jiis< lgod 143
1000/-
st a; b cflb &hf ;ji<L ;fug kofs ;d}Pssfaflitf ? 3000/- 1000 1000 1000
500/-
@ TSRl e i Aty wener @art e v it 5| 1000/ - 500 500 500
uz Ight. cfib derfhf ;<L ;fwg Pssflaflif ? 400 400 400
. 59, %R, IR et At JEr wEn quT 200 200 200
2. for e Bt oty T S e T A @ 200/- 500/ 200 200 200
r: Ighl A< 200 200 200
% kfj<h< A< ciib Pssfaflifs ? 50/- 200/- 150 150 150
h df< ;106n :s™< cflb Pssf]? 50/- 200/- 50 50 50
er "< 8] 350 350 350
&hf bti{ gljs)f ghd<a 100 100 100
krs]; jf<d s< Igdg ;*sx?df :yf-:j-lgodfjnl 2056sf]igod 143
cg;lr 11 cg;f togtd zis Ing]
nyigy rfl blv k8kigl ;*s 75000 75000 75000
sfinsfrig blv ytl ;*s lh4la:;: Ih=la= ;- lh:laz;-
cihgrfs blv k"bfl 5*s 75000 75000 75000
Izz§f blv bp<nl kipl ;*s 16500 16500 16500
tinfluugufsf blv hgtisf]rigif ;*s 15000 15000 15000
Izzjf blv cfbg rfp ;*s 10000 10000 10000
jligf; bv vib ;*s 10000 10000 10000
cfon lgud blv d51*f ;lgs artl ;*s 110000 110000 110000
a<hny<, tiufsfldv ;ftdfg]vinfsf%p 15000 15000 15000
1zzjf blv :ofavhl ;*s 10000 10000 10000
IzzJf blv Ibk@ ;*s 10000 10000 10000
kiitl rfls biv <fdHoft. , Ibkjb| rfs ;*s 10000 10000 10000
al(ahf blv ViirEn ;*s 10000 10000 10000
cHfflv crf];*s 10000 10000 10000
jligf; tin biv tinjLl Ih-la: ;- Ih=la: ;- Ihla=;:
5.00 |dgfthg s< ut Ig)ffcgic d;ls Psdig Ing] lgod 145
I;qif xn dfl;s 2%9fa fawe 2%9ta fada 2%9fa fawe
520 |hib',;s§, rs byfpgj* kit Ibg 2 wufa fawa 2 gfq feswe 2 ufq fere
530 |;fjflgs hlufdf I*s™ Ingji<l dgffthg k|t I*s” 2 wufq fasa 2 9fq fewa 2 9fq fawe
5.40 |dxflja tyf dhfdf byfpg]jfn pBfg kit I*s* 2 %9t fawe 2 9t fapa 2 9t faswa
6.00 |latfkg ;fjflgs tyf kitkiydf
1= ;f0gjf{ x 2 jfF{Unjf{ctl 25 ju{k™ ;0d 400 400 400
. . i 600.00 600.00 600.00
2= ;f0gJfF{ x2 Ji{UnJf{cfol 25 ju{k™ dfyl
3= 50 ju{k™ ethf dfly kit juk™ yk 10 10 10
50 ;f]ebbf 50 ;flebbf{f 50 ;f]ebbf dfly
dfly 100.00 dfly 100.00 100.00
4= thlofg< <fFan; Jofg< Psxitf ;0d
5= kfh Jofg< kltufff 50 50 50
6 jink{® kit ju{k 10 kit ju{ke 10 kit ju{ki™ 10
dib<f tyf ;lthtodf lalfkg th Jofg< <fg glbg]
W IIEd BNfears qof AR e Afer Facashr
hiuf jf #<df ePdf 50 kltzt sd Ing]




ist RERILREER] Igodfjnl 068/069| 070/071| 072/073 073/074
b< S< b<?: Is< b<?=] s< b<? s< bk ?-
X2 jiFBflkpfhgsf]nflu ;fjhgls hiuf kpfli u<]
afkt kitjuk dfyl pinvt b<df k|t jug™ 10
yk Ing]
JolQuut hiuf kjt jug™
7.00 [lzkifl<; b:t’ g=kf= Ig)fd
1. ofpgf, bf.vf. d[o%f]dinkft sfoffiodf xg]
Izki<L ; df
kxfl* a*fdf 100 130 150 200
;dy< j*fdf 200 250 300 300
klt au{lkn™ ? kit au] k|t auf{lki
2= gS;1ki; gfp; L cf<l;=l; #<shkit jule® 1 ke ?2 ? 3| kit au{lki™ ? 3
3 gS;fkf; gfp;fL SRrl #<sf] ? 150.00 250 300 300
4. K}; g <xnkxn cflbdf 300 400 500 500
5. kfljfis ki; g 500 550 600 600
6 gfudstf |; kif<.; 100 100 100
7. vigkfol |15 kifl<; 200 300 350 350
8:laBt |;kifl<;
s.SRr # |;En ki} 300 350 400 400
v: laBt y] ki} 1000 1200 1500 1500
u= c:yfol ;Sbaf;l 500 1000 1000 1000
#: cf<|; ;L #< Pstnf 310 400 500 500
& cf< |; ;L Pstnf etbf dfly 510 600 700 700
9. 1jBt, vigkfgl, “Inkiffy, gfd;f<l 110 200 300 300
10= gftf kgf)ft |zkef<L; df gkfnl 100 100 150 200
11:= gftf kfif)ft Izkifl<; cupldf 700 800 900 900
12. cupl I;kifl<; ;j};fdfto 600 700 800 800
13- #< afMkp)FE kisgf |5 kif<.;
Ps IsTifsf] Ps IsTifsf]?
Ps IsTifsf]?[ 2 300 <| 400 < k|t| Ps IsTffsf]? 400
210 <Kk|t] kjt IsQf ?| IsQf ? 50| < K|t IsQf ? 50
st kxfl* efudf IsQf ? 50 yk 50 yk yk yk
Ps IsTifsf]?| Ps ISTifsf] Ps IsTifsf]?
410.0 < k|t| ? 500.0 <| 800.0 < k|t Ps Isiffsf]?
IsQf ? 100 k|t IsQf ?| 1sQf ? 100| 800.0 < k|t IsQf
v= ;dy< efudf yk| 100 yk yk ? 100 yk
13. dfnkft
? 2.0 k|t
s. kxfl* efu <fkgl
? 10.0 k|t
v. ;dy< efu <fkgl
14, hiuf s<
? 10.0 K|t
s. kxfl* efu <fkol
? 30.0 k|t
v, ;dy< efu <fkol
?100.0 Ps| ? 130 Ps| ? 150 Ps
IsQf < To; | IsQf < To;| IsQf<To;| ? 200 Ps IsSQf <
ki% kit IsQff k% kit| ki% k|t 1sQf|To; ki% kit IsQf ?
15 ri< Ishnf kpifl)ft |; kifl<; ? 30.0| I1sQf ? 40 ? 50 30
16= ;Dabw laR%p |zkif<.; df 110 100 100 100
17. <fxbfgl |; kofl<; 300 400 500 500
18. ;fdfto I;kifl<; ;j} 100 150 200 200
19. Joj ;fo kpf)fkg 100 150 200 200

20. hluf bti{]; kifl<;




;st QY fqavor lgodfjnL 068/069] 070/071] 072/073 073/074
b< S< b<?: Is< b<?=] s< b<? s< bk ?-
300.00 kjt[ 500 k|t 700 klt
sz ;dy< efu <fkgl <fkgl <fkgl 700 K|t <fkgl
100. k|t] 200. kit
v:= kxf*L efu <fkal <fkgl] 300Kk[t <fkgl 300k|t <fkal
htd < [j jix bti{kpnf kg g= ki af ki)t 500
21. hed, Ijjfx, d[o” 120 150 200 200
22: ciyfol j;f§f; 1;kifl<; 120 200 250 250
23 :yfol j;fff; |5 kofl; 110 200 250 250
24. hiuf NKINE Izkif<L; kit <fKlg 500.0 Kt <fkgl 1000{00 kit <fkgl 3000 kit <fkgl
25. #< gSzf kf; Is=g- ; ;fivg 100 150 200 200
#< Igdfff ;Dkég I;kifl<; 1 tnf 300 300
#< Igdlfff ;Dk6g |5 kiflcs 2 tnf esbf dfyl 500 500
jiflkpnEE ab kpfhgsf nflu 200 300 300
pBfl btf{l; kif<L; 250 300 300
100 1a"<) 100 Id"< ;0d
:0d| - 2:500.00 < To;
AR 1l Kl [ To; dily k|t 2:10.00yk
af™ s fjhgls |;kifl<; kJt A< 500 ldAe
Ighl hluf s"fg 1;kifl<; k|t <fkgl 1000 1000
8.00 | ;:iyf bti{lzkafl; tyf glas<)fdf
s: cfdf ;dk Snj dixnf ;dfh cflb ;fdflhs ;:yfdf 100 100 200 200
v: glas<)f Izkif<L; kit aif{ 100 150 200 200
u. Uk|;<sfd ;uyf 500 500 1000 1000
#. cht<fine u)| ;<sfd ;uyf 1000 1000 1500 1500
a sxsfd ;:yf sfif 100 100 200 200
9.00 |Tasi fomme a9 It
s kf la= ;0dsf nflu 1000 1000 1000 1000
v: lg=dfla: ;Ddsf nflu 1000 1500 1500
u= df la= ;Ddsf nflu 1500 1500 2000 2000
#: pRy dfla: sf nflu 2000 2000 2500 2500
10.00 | cfo >ft kjfl)it Izkf<l;
s:= cfo >ft kfifl)ft Izkif<.; ? 1 klt xhf<} 1 k|t xhi<] ? 1 k|t xhf< ? 1 klt xhf<
11.00 |frer ®IEA ook ( AT, U IEET TH
s= ;7sf]1 Id <df 1000 1000 1000 1000
v: T0; k% kjok Id"<df 500 500 500 500
u. (n cbo kiffg]1 ld*< ;Ddsf] 2000 2000 2000 2000
v: T0; k% Kok Id"<df 1000 1000 1000 1000
12.00 |knf<d b:€R
s=#< gS;kf; kifed b:t¥ 500 500 700 700
v ljljw bevi:t kifdsf] - 10 10
T, TR ERHST ( FORr SER lg)fbfg’; i< l9)fbfg’; i Ig)fdfg’; i<
13.00 |pBfli :yfkaf |; kifl; tyf w<fl
w<fl pBfli gekf=df btf{ki% w< kntf{ug](KMLS]
cfwi<df w<f Ing}
pBfli btf{l; kif<L; 210 250 300 300
gSzfkf; btk
16.00 |c:yfol #<sflgS;f kf; ;dy< efu 1500 2500 3000 3000
c:yfol #<sf]gS;f kf; kxf*L efu 500 700 1000 1000
c:yfol #<sf]gS;f kf; kxf*L efu nt6tl 500 700 700
c:yfol #<sf]gS;f kf; ;dy< efu ndttl 1500 2000 2000
3KIt ju
Ins 0&fsflufxf]I"gsf%fgf ePsf] 3klt ju{k™ ki k|t ju{k™ 4k|t ju{k™
- KB hFO{ePsT] k[ jufk® Jufki™| 2 2kpf kIt jufki®
eldut tnf kit jufki 5 6 7 7




st S ERIECEU lgodfjnL 068/069] 070/071] 072/073 073/074
b< S< b<?: |s< b< 2| s< b<? s< bk ?-
hidg tnf 5 6 7 7
kixnf] tnf 6 7 8 8
bfpfl tnf etbf dfly 7 8 10 10
<hdfufi] %fPst #*fx2df #< Igdfff ubf{;flassf] 50 k}f yk| 50 K}f yk
b<<df kit juka™ pk<fQr b< <]df yk b:tk Ing]l Ing]ll 50 k}f yk Ing]l
;< ePsf Jofkflks kpfhgsf #<x?sf] ; a}tnfdf yk
<thzZj k|t :So< k™ ? =2 22 yk
#xonfo{rfn' jif{blv e<tkfy<l uflj; nfo{
gukfinsfdf ufleg' kj{agsf #<nfo{ 50 kjtzt %"
Ibg].
Iwtf]tyf ;0kIt diofsg u<hfkt Igdg cg’ i diofsg
17.00 | ;Jf Ing]! 50 k}f kIt xhi<[}f klt xhi<[ k}f kit xhi< kit xhf< 2 1
s lab clioog ug{hfg]laBfyL{f ?- 2000.00 2000 2500 2500
26.00 |kfh, tik nf0f la:tf zls
AT TR EATAAH TSH [FART, FZuld, AEE
hiuf cflodf gkfn laBt kflws<)f, gkfn Mnsd <
sjh nfo§ cflon]kfh, Soflag], tf< ~Ms:ki<d<,cflb
<fvl nfof la:tidf Igdg cg'; i df;ls zNs Ing]!
laB't ;Datwl
s= shhlo laB't nfo§sflkfh Pssf] 1000 1000 1000 1000
v: ;fwf)f kfh Pssf] 200 200 200 200
u= MG; kdf Psssf] 500 500 500 500
#:= ti nf0§ Pssflk|t Id"< 10 k}f 10 k}f 10 k}f 10 k}f
gkin Nnsd
s= ;fwi)f kfh Pssf] 200 200 200 200
vz tf nfo§ Pssflk|t ld”< 10 K} f 10 K} f 10 k}f 10 K} f
u- Soflag} Pssf] 500 500 500 500
sjh nfog tfi< kjt 1d"< 10 K} f 10 K} f 10 k}f 10 K} f
28.00 |rnlrq %fofsg zNs
g.ki=Ifylegsf]sfiklg :yfgdf rnlrg %foffsg ubf{
gk=sfIkj{:jlsk Ing"kgl% |
-jlstsf]nflu Igdgfg'; f< b sfod u<lPsf]% I
s= gkfnl rnlrg %fof2sgdf k|t Ibg 3000 3000 3000 3000
v: labkl rnlrg %foffsgdf kit Ibg 6000 6000 6000 6000
u= cto %fofdsgdf kit Ibgsf] 200 200 200 200
29,00 |Joa; fo btf{kff)f kq kltinkl 50 100 100 100
kitinlk kit kfgf 1; kifl<; sf] 50 100 100 100
kitinlk ;DkQLs<, gubl <I;b k|t kfgf I; kifl<; sf] 15 30 50 50
gSzfkf;, :yfol Ohfht kq, ;Dkég / gSzfsflk|tinlk 100 100 100 100
cfa:= 2070/071 blv cuf*Lsf jif§f]Joj ;fo s<
hicjgfdf 50 kftzt %" Ibg]!
30.00 | *Ef Joj ;fol
s: sfésflknf ePsf]*Ef jflits 500
v: InflrssflkAnf ePsf]*Ef jilifs 500
u= 6 hgf etbf al( 1;” ePsflkbn *Ef jfliff 800
# ;<;kif0 zNs k|t 1"k ?-5
31.00 | ;<; kifofzls df;ls
s= Pstn]#< 30 30 30 30
vz b0{tn]#< 40 40 40 40
u= tig tinf jf ;fletbf dfly 50 50 50 50
koa;fols kpfhg
s= Kt ;< 30 30 30 30
vz kif xfp; xfn 100 100 100 100
u= js{;k 100 100 100 100




st S ERIECEU Igodfjnl 068/069] 070/071] 0727073 073/074
b< S< b<? |s< k2] s< K™= s< b< 2=
#: pBfli sn skvfgf ;xsfo ;xsfo ; xsfof ; xsfo
*: c:ktfn ; xsfo ; xsfo ; Xsfof ; xsfo
r= kfhlSnlgs di*sn ; Bt afxk 100 100 100 100
% laBfno snh Ighl tyf cfaf;lo 200 200 200 200
h:= lalQo ;:yf ak, ;# ;:yf 100 100 100 100
e kinkfy Aofkf<, xp< sI™*= ;hy 30 30 30 30
"= dhf dxfT; j sxdtl sxdtl ;xdtl ;xdtl
= kfs{,dlthe, a;kfs{;fdbflos ejg, rfkif, kirlxn,
; *ssflbfof afof kipflsg]kifkf ;xdtl ;xdtl ;xdtl ;xdtl
& sV vl <fuf ;iNffo;{ 200 200 200 200
lkSgls zls K|t ;dX 500 700 700
32.00 |x'n
sidrof k;n 30 30 30 30
v: lrof vihf k;n 40 40 40 40
33.00 |xf'n u]xfp; Kk;
SN 1000 1000 1000 1000
v= xfin 10 sf§f ;0d 150 150 150 150
u= xfn 11 sfRf dfly 250 250 250 250




